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QUESTION NO: 1

Which of the following statements are true about the Scrum Master role?

A. The Scrum Master assigns the tasks to Development Team members and ensures they are completed within the 
committed timebox.

B. The Scrum Master helps those outside the Scrum Team understand which interactions are helpful and teaches the 
Development Team to keep the Scrum meetings within the timebox.

C. The Scrum Master is responsible for updating the Scrum board and ensuring team members avoid conflicts.

D. At the Sprint Review, the Scrum Master demonstrates the completed Increment and answers any questions from the 
stakeholders.

ANSWER: B 

Explanation:

The Scrum Master is responsible not only for coaching the Scrum Team but also the organization.

QUESTION NO: 2

During Sprint Planning, the Development Team was not able to confidently forecast a Sprint Backlog but the Scrum Team 
was able to create a Sprint Goal for upcoming Sprint. What action should the Scrum Master take?

A. Postpone the Sprint in order for the Product Owner to refine the Product Backlog to the level needed.

B. Extend the Sprint Planning time-box until the Development Team can forecast enough items to begin the Sprint.

C. Forecast the most likely Product Backlog items to meet the goal and discuss in the upcoming Sprint Retrospective why 
this happened and what changes will make it less likely to recur.

D. Request assistance from the technical architect.

ANSWER: C 

QUESTION NO: 3

Steven, a Scrum Master, is approached by the Development Team members complaining that one of the senior engineers is 
using too much time during the Daily Scrums to share technical solutions.

Which are the best two actions for Steven to take? (Choose two.)

A. Coach the Development Team to help them find a way to solve the problem, and for them to take ownership of the 
solution.

https://dumpsarena.com/


DumpsArena - Pass Your Next Certification Exam Fast!
dumpsarena.com

B. Contact the team member’s direct manager and to resolve this problem.

C. Suggest that the team members timebox the amount of time each person can speak at the Daily Scrum to a maximum of 
two minutes.

D. Suggest using a token to limit who is allowed to speak during the Daily Scrum.

E. Speak with the person privately and coach him on the purpose of the Daily Scrum.

ANSWER: A E 

Explanation:

The Scrum Master serves the Development Team in several ways, including:  Coaching the Development Team in self-
organization and cross-functionality;  Facilitating Scrum events as requested or needed.

It is the Scrum Master’s responsibility to teach the Scrum Team the value and objective of each Scrum event in order to help 
them maximize the benefits of each event in accordance to the Scrum values and theory.

QUESTION NO: 4

Individual Development Team members have been approaching Steven, the Scrum Master, to complain about Chris. Chris 
has the most experience on the system they are building. He often questions the choices team members make in design and 
architecture making them feel bad.

What are two good ways for Steven to address this problem? (Choose two.)

A. Steven observes whether this topic is raised at the Sprint Retrospective. If not, then he checks with the team on how 
comfortable they are with the way the design and architecture is being handled.

B. Steven suggests facilitating a session with the full team to help resolve the issue.

C. Steven tells the concerned members that Chris’ opinions should be respected as he has the most experience and 
understands what is best for long term sustainability.

D. Steven shares his concerns with Chris and the impact on the other team members and that he should be a team player.

E. Steven takes the time between Sprints to organize a team building session to build a stronger relationship.

ANSWER: A B 

Explanation:

Conflicts are a natural occurrence and the Scrum Master coaches the Development Team on the value of resolving conflicts. 
Leaving conflicts unresolved can impact the Scrum values of openness and respect diminishing trust. Lower trust levels will 
impact the Scrum Team’s effectiveness and can cause impediments in the future. It is the responsibility of the Scrum Master 
to remove impediments that hinder the team through conflict resolution and facilitation.

QUESTION NO: 5
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A Development Team member has notified the Scrum Master of a potential data security risk.

What action should the Scrum Master take?

A. Notify the test team.

B. Add a Product Backlog item to address the security issue.

C. Ask the Development Team member to share the issue with the team as soon as possible.

D. Wait until the Sprint Retrospective to add security to the definition of “Done”.

ANSWER: C 

Explanation:

It is best to coach the Development Team members to collaborate on issues regardless of severity. They may consult the 
Scrum Master of Product Owner if needed.

QUESTION NO: 6

During the Sprint Review, the Product Owner decides to release the current Increment to production. The stakeholders 
suggest temporarily delaying the next Sprint in order to respond more quickly to user feedback after the release. The Product 
Owner prefers to continue to the next Sprint and make progress towards the next release. Steven, the Scrum Master, begins 
facilitating the discussion.

What would be two acceptable outcomes of the discussion? (Choose two.)

A. Continue with the Sprints and include the customer feedback in the Product Backlog.

B. Delay the next Sprint to allow the Development Team to work on new customer feedback.

C. Continue with the Sprints but shorten the Sprint time-boxes to allow for shorter feedback loops.

D. Continue with the Sprints but allow the Sprint Goal within the Sprint to change according to the customer feedback.

ANSWER: A C 

Explanation:

A new Sprint starts immediately after the conclusion of the previous Sprint. Delaying the start of the next Sprint interrupts 
progress and can reduce the Time-to-Market. Shortening the Sprint length allows the team to respond quicker to changes 
outside of the Sprint plan and while still allowing delivery of business value. Adding user feedback to the Product Backlog 
helps the Product Owner with ordering the backlog to maximize the flow of value.

During the Sprint no changes are made that would endanger the Sprint Goal.

QUESTION NO: 7
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A Scrum Master is not only a servant-leader to the Scrum Team and organization, it’s also considered a management 
position.

Which three activities describe what a Scrum Master manages as reflected by the Scrum Guide? (Choose three.)

A. Reporting on the performance of the Sprint.

B. The way Scrum is understood and enacted within the organization.

C. Managing the capacity and utilization of each Development Team member.

D. Managing the process in which Scrum is applied.

E. Managing the Product Backlog items and work in the Sprint Backlog.

F. Removing organizational impediments that limits the team’s progress and productivity.

ANSWER: B D F 

Explanation:

The Scrum Master must understand the principles and values behind agility as well as the Scrum theory. He/she also must 
act in ways that reflects the values of Scrum and creates an environment for others to also embrace those values. He/she is 
responsible for ensuring the team’s process stays within the boundaries of the Scrum framework as well as helping and 
supporting the team with continuous improvement.

QUESTION NO: 8

Collaboration issues and technical dependencies between multiple Scrum Teams working on the same product can be fully 
resolved by using the correct version control tools.

A. True

B. False

ANSWER: B 

Explanation:

When working on complex problems in complex environments, it cannot be guaranteed that applying a specific process or 
tool will fix the problem. Although, process and tools are important it’s more important that people collaborate and try to find 
different solutions together and not rely solely on a tool to fix the problem.

QUESTION NO: 9

The outcome of a Sprint can be impacted by which of the following? (Choose all that apply.)

A. The working relationships and skills of the people on the Scrum Team(s).

B. The complexity and stability of the technology.
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C. The complexity of the requirements.

ANSWER: A B C 

Explanation:

The knowledge, skills, behaviors of the team, and what’s known and not known will impact not only how effective the team is 
but also the outcomes of what it can produce.

QUESTION NO: 10

According to Scrum theory, how should a group of fifty people be divided into multiple Development Teams?

A. Allow the team leads to divide and select teams.

B. Understanding the product, the product vision and the Scrum framework, the group self-organizes into teams.

C. Create a skills matrix, identify role levels, and years of experience to assign people to teams.

D. The teams will rotate members every Sprint to spread knowledge.

ANSWER: B 
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